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QUESTION 1

You have a table named Product. The Product table has columns for ProductDescription and ProductCategory. 

You need to change the ProductCategory value for all the spoons in the Product table to 43. 

Which statement should you use? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 2

You have the following table definition: 

CREATE TABLE Road (RoadID INTEGER NOT NULL, Distance INTEGER NOT NULL) 

The Road table contains the following data: You execute the following statement: INSERT INTO Road VALUES (1234,
36) 
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What is the result? 

A. an error stating that NULL values are not allowed 

B. a new row in the table 

C. an error stating that duplicate IDs are not allowed 

D. a syntax error 

Correct Answer: B 

 

QUESTION 3

In SQL, an insert statement is used to add a: 

A. User to a database. 

B. Row of data to a table. 

C. Table to a database. 

D. Column to a table definition. 

Correct Answer: B 

 

QUESTION 4

You need to create a view to filter rows of data from an underling table. 

Which type of clause must be included in the CREATE VIEW statement? 

A. CONSTRAINT 

B. WHERE 

C. JOIN 

D. FILTER 

Correct Answer: B 

 

QUESTION 5
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Which command should you use to give a user permission to read the data in a table? 

A. ALLOW SELECT 

B. LET READ 

C. PERMIT READ 

D. GRANT SELECT 

Correct Answer: D 
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